THREL2FERTZE

Safety Sharing on Bamboo Scaffolding

2025.2.13

R EFXZOEEXEEEEZEGZES
T 4

O BZ AR B+ T - X
Ilr Dr. C.M. HO, J.P.




p

&
70

L
3

2025.01.13
RUEF = EE

o
~
N
o 16
< Mib
o &
N i0E



@R ;EFAIMEE TRERIE. ZHENTE

SlEgttE tMEBE
FETTMRNE L2 MRIES - X7 " 1T .

1. 1=

ml>

2. WRBEETTMISHLUEBENNZGE - BEBRPMNEZRATL FLF) -
IR INE A R -

3. EREBMRIUELEENGTERGES @ KRAMFLEERRHELEZE
MAEE -

4. £BMZRMN " Hlih o HEERRE - ABRSWAESIFER

H]]




BUEIZ2EE BOBRSH

(I8 EretsoTRalRR AARHRNTIEESR

I MARTERSRE A EFIA  ANRAME

I BEA BRIAFTEERNE: .t %%‘ﬂ%tﬁ

ii<4% HRE OAAZ TELZDIAR ¢ iﬁ
mﬂﬁ%,ﬁé%manm kit

'Jﬂ‘ﬂ|

Kowik WinE
il I

‘ﬂ“W“”“W*”’”F’ﬁ&H ki HR LSS

w I;-_, b 1 T 1 Ix, ""ﬂf““z,I:Tb‘w |1uH\
Ji#ﬂ”Wt”of*“F ﬁ@ﬁﬂ”‘ BEER Al ARAAES
f&#ﬁﬁﬁ hRA RRL Bt ARWASEHARRES
A—ERRBE2TERA 'nﬁﬁ IR REfRMERTENRRE 04

KR 4W’¢%‘ lﬂl AN BAFNEEREEY

il ! g, b
a4 TH? J:\. ‘\”\ F"tQ L ‘Ur

$”|“w$1f

I AT h

mﬁ

i TR

rlz‘ ff\; ‘1T [‘“II ) ! H"ﬂ
SAEETTRST

".'ﬁﬁﬁﬁkf
ﬁﬁIIHJH\W“M ERBRAN %47 THE S8 mELYS
# BoFREENZ ARBRLAKEE RAKLE

'\‘I .fj' "w,. ?.j"j‘_ E.M :',\ lf /'; Bt 5\;

PRL BRERNNER BEAE  THE) KA K
) @we’rf'%”‘le?'

HaAmtEAdEmn AR I ES |wFf“T‘H?|Uv
(REEEANARMARNES) 6 "1 &) WERLAA
I, (BRATA) RELEH HEEEH g
TUEE 'ERL, (H(FTEEI-R%

ERARARGIRELRRS) ) (HR H%;
REL) BERERS ERARME  —eHRNLEER
RERTRETRE BT R ARAR

s¥( ‘F

ATATE R
%Wﬁixﬁm
TEAREENLERK

&% A RERTEFKEN

ﬂmW+u& B LhiE

BEFEETE .

~FEHR

TTHRZR

s ARRE
}E2¢ ’"’"¢:$§§1%E,*\2§31ﬁ5 2%

335 - RERE S IR ME T »%m :

et LEF EZHARE - U
S i 26’52*

f@Faﬁré A2 TTTREBAZE, ¢

EHHJ__EE’\J__ELHE‘TE

21 TR EEES (HZE) A|FH

e N R

RIMIFER - TR

EBMRERFE " 1

=

=
P — ERIER ZIZTEH - BLEET .
EARIET

MRBAR
A -

15— THIZEDME - £ @/fﬂﬂj = B EE
VSR
HArE

CZ EMERRENFR

° TBEMWR— L L

fEE 7 22 IR -
ERFEETEERAERRM ‘%’J”ﬁ

Ak

2Rt L - EIE - RSEEITHISR




ZxIMEETm (CURTAIN WALL) 1
il (CLADDING) &L E &% :

. B ERE

. e L1 (E

. 10 5% 1A 22 Y & 38
. FERABER

H W NN =




@

=

ZEX

5T DESIGN FOR SAFETY

ZRFIBEEE - =S HBZIMERIMAZR ?
aeal RBABRMR SR ARMELIETTEL?

AN A

NRAITRBEZMIZEES

R

17

WENFRE - olhees "R, - HelE) " 1l
T A i [ R 7

NiE B
Xz =



2. bt Lt fE

/

WNR L 22 18 S A (IR R 222 RYES
= Hh afEiil :
PEER + Bmad + Hi L
* JASTARBRIM L ;
* AR{OJRIMIZRRICLE) - IR AT

« BIEHIETEHR - OJERE "HIIR, - RINE " FTERAT R Eﬂﬁ



3. NNEI 2R E B

EZEIME wim S MRS

CSSFORM5: 14K > 7K>3K-> &

O

/

51

« JRZE MAZR CP & 2721

R ENFUd ?

<i R AT

B =
E =)

T35 7E) -

MR L

% 78 22 BV IF A AL

BlZiRse [HAEX 157 —1EARE 1005 ...... |



we " O] Bx=iEs 6/2/2025

From Secretary for Development To Distribution

Ref (03KUY) inWP5S-030-010-050-003 (Attn : )

Tel. No. 3509 8305 Your Ref.

Fax No. 2524 9308 dated

Email manyiulee@devb.gov.hk Fax No. im ﬂé& E’: 752 A — 9 % * § T }ﬁ gﬁ E
Date 6 February 2025 Total Pages 2 (a ) an mm E E J

=
Enhancing Scaffolding Safety 9 EI] H?_r "\E ﬂ%

There have been incidents related to scaffolding safety on
construction sites from time to time. Apart from complying with the legislative
and contractual requirements, there is room for imposing the following
administrative measures with immediate effect for further enhancing scaffolding

e (a) CP #2225 2% FORM 5 > ZEX R 40 iF

(a) requiring resident site staff and designated persons of
contractors to check the quantities of putlogs of scaffolds on a
daily basis and rectifying anomalies immediately once
identified; and

(b) requiring competent persons to submit photo or video records
to demonstrate the comprehensiveness of the inspection
carried out for completion of “Form 5” for the purpose of
Regulation 38F(1) of the Construction Site Safety Regulations
(Cap. 590).

2. Please bring this memo to -the attention of the members in the
DSEAU, officers administering public works contracts, consultants, resident site
staff and contractors. Please also re-circulate this memo on a half-yearly basis.

( LEE Man-yiu )
for Secretary for Development




BENEERE - BojgER :

AR E
~ 533K E

vabs L

E1F ~

=L
~ B (8 ~
~ [EXHf ~

JTEXY ti 'ﬂE iﬁ
»



BRIMNYRSZ 777

ZE D> A > IBRE > (Ol ¢tres . =

A 4

!

sz o I i
REIRIREN

E+ R EE A+

LA+ E)




4. ERRIK

r1ﬁJHﬂ1

REMOVE
PUTLOGS

WaEE

—

=+
%&

[E7x%

=T

s ERFENIE LE
« TEIMIGZ
« FIBE

i

Pﬂlli

Be

R &8

ZHENEEAS -




RMAA ERRIRMEIN



(SR ) K2

#

ih=

o MEBEIAL 3 MEBRESR EHELEK

=3

® TEINARNEEFTN ESEEEL -
HigBAA DR BEFEK 25 FiE
(25N/MM2 ) -




flii
;'| |||||||||

AR IK I K B S ik A 22 4L ) A /)
BT AEXRER S
2021-1-13 i I
BT AE7TIEIMBIEEMER - #1717
FIRIEE T -

SEMIZRR LR - IRERIRAARRAR -
BRI —EMER - IhE EE T E
?rgZZA/EET - = - TARZEH
JXIE]—mp °




B IR

SR ) KR

ZRBANTMNADBEAR 774

~E (7KN)

BIRBAEEZS N ENME RAINEBRARE -

B EFRIIME L EE

Hie e AR - o

hey

EEF XXD ERER (RHEZ2) - 8B&ELT =25 N/mm?
BRRR# M8 x30 M10 x40 M12 x50 M16 x65
MR E 2.8 KN 4.3 KN 5.9 KN 8.8 KN

EEF YYA AIRBIsE (Rt

W

22)

» BiREtT = 25 N/mm?2

ISR 44 M8 M10 M12 M16
AL S 4.2 KN 5.9 KN 8.8 KN 12 KN
ZiamRE 55, 70mm | 68, 83mm | 85, 100mm | 101mm

| 4«#‘4- gt

TR

AESER AT 3

EEL

16






1SS

 WAZR RV L

E

= E

= E

oE .
= 27,

R

EEE EX
TE’I‘:

HlF B C & an 4







	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	安裝外牆幕牆 (curtain wall) 或�掛板 (cladding) 的安全建議 :
	1. 安全設計 DESIGN FOR SAFETY
	2. 施工協作
	3. 加強棚架的管理
	Slide Number 9
	問題的底層原因，有可能是 : 
	額外的開支  ???
	4. 使用科技
	Slide Number 13
	狗臂架（金屬托架）失誤
	Slide Number 15
	狗臂架（金屬托架）失誤
	Slide Number 17
	Slide Number 18
	Slide Number 19

